253 responses

Summary See complete responses Paper-I Code X

Question 1

Opticn B [67]

Question 2

Option C [#1]—

Cplicn B [42}]———

Option C [48]

=—Opiion D [t5]

Option A [47]

— DOption D [28]

— Option A [34]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

47
67
48

34
42
41
28

19%
26%
19%

6%

13%
17%
16%
11%



Question 3

—— Opiion D [31]

Option C [103]
Option A [15]

Option B [18]

Question 4

Dption C [§) —————
~—— Option D [35]

Cption B [47]

Option A [50)

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

103
31

50
47

35

6%
7%
41%
12%

20%
19%

4%
14%



Question 5

___——————Option C [17]
y
N

4 ——Opticn D [19)

Option B [29]

Option A [57]

Question 6

Opticn C [39]

~—— Opticn O [14]

Opfion B [25] Opton A [23]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

23
25
39

23%
11%
7%
8%

9%
10%
15%

6%



Question 7

Dption B {18

Option A j99]

Question 8

Opiion G [38]

Opticn B [26]——

Opton G [20]

— QOption D [9]

Option D [26]

— Oplion A [36]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

99

20
9

36
26
36
26

39%
7%
8%

4%

14%
10%
14%

10%



Question 9

“.——Dption D [29]
Option G [117]

Option A [14]

Oplicn B [27]

Question 10

Option G [B] ————

——Opiion D [44]

S opiion Af10]

Option B [121)

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

14 6%
27 11%
117 46%
29 11%

10 4%
121 48%
8 3%
44 17%



Question 11

oS o

Option A {24]

Question 12

Option C [58]
—Option D [21]

Oplicn A [27]
Opficn B [27]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

24
154
9

3

27
27
58
21

9%
61%
4%
1%

11%
11%
23%

8%



Question 12

Opticn G [59] —— Opiicn D [15]

Opticn A [17]

Opticn B[17]

Question 13

Option G [145]— o D[]
— Option

k. Option A [20]

P opiion B[10]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

7%
7%
23%
6%

8%
4%
57%
4%



Question 14

Option C [74]

Option B [18]

Question 15

Option C [16] ——

Option B 17—

Option A [91]

I

i

Ba
e

~—— Oplon D [24]

Option A 130)

— Cption D [57]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

30

74
24

12%
7%
29%
9%

36%
7%
6%

23%



Question 16

Option C [88] ——gl :

—— Option D [17]

Option A [37]

Option B [27]

Question 17

— Option D [78]

Opticn C [15] ‘»

Opton A [41]
Opton B

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

37
27
89

41
43

78

15%
11%
35%

7%

16%
17%

6%
31%



Question 18

—— Option D'[52]

Opticn C [41]

Opton A [29]

Option B [34]

Question 19

Option C [49] —» — Opticn D [30]

Dption A [24]

Option B [40]——

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

29
34
a1
52

24
40
49
30

11%
13%
16%
21%

9%
16%
19%
12%



Question 20

Option A [1213

Question 21

Cption C [25] —

Cption B [56] —

Dption C [14]
— Dption D [8]

——{ption A [34]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

121
37
14

6

34
56
25
57

48%
15%
6%
2%

13%
22%
10%
23%



Question 22

Option G [#40] — e

—— DOpiion D [21]

Option B [34]

Oplion A [54]

Question 23

Option C [27]

~— Opficn D [44]

Opticn A [20]

Oplion B [82]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

54
34
40
21

20
82
27
44

21%
13%
16%

8%

8%
32%
11%
17%



Question 24

Option C [39]

Option B [25]

Question 25

Option C [7]—

Opticn B [48]————

— Opticn D [19]

Option A [52]

Option D [88]

Dption A [37)

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

52
25
39

37
49

86

21%
10%
15%

8%

15%
19%

3%
34%



Question 26

Option C [12] —k

Question 27

Option D [123]

Opticn G [ ———

Option D [77

Option A [64]

— Oplion A [11]

—Opficn B [30]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

64 25%
21 8%
12 5%
77 30%

11 4%
30 12%
8 3%
123 49%



Question 28

—Option D [21]

Option G [141] Opficn A [7]

Option B [13]

Question 29

Option C [44]

— Opticn O [4]
Option A [12]

Option B [111]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

7
13

3%
5%

141 56%

21

12

8%

5%

111 44%

46 18%

4

2%



Question 30

Opfion D [1833] —

Option A [5]

Opticn B (28]

Option C [18]

Question 31

—Option D [70]

Option G [13) —

Option B [20]

Option A [78]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

5
28

133

79
20

70

2%
11%
7%
53%

31%
8%
5%

28%



Question 32

Opticn D [89) ————

Option C [25] Option A [27]

Option B [34]

Question 33

s Option B [20]
'Tﬁ . — Oplion C [17]

— Option D [15]

Opton A [125]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

27
34
25
89

11%
13%
10%
35%

49%
8%
7%
6%



Question 34

Option G [26]

Option B [51] — Option D' [15]

Opticn A [58]

Question 35

— Option D [42]

Option C [57)

Option A [22]

Opticn B [40]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

59
51
26

22
40
57
42

23%
20%
10%

6%

9%
16%
23%
17%



Question 36

Option D [143]—

Question 37

Option C [28] —w

Cption B [23]

Option AJ11]

Option B [18]
Opton G [9]

— Opticn D [48]

Option A [74]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

11

143

74
23
25
48

4%
7%
4%
57%

29%

9%
10%
19%



Question 38

Option G [39]

~— Option D [13]

Opticn B [84]
Option A [33]

Question 39

Option G [148]— — Opticn D [9]
e — Option A [3]

~—— Opticn B [18]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

33
84
39

3
18
148
9

13%
33%
15%

6%

1%
7%
58%
4%



Question 40

= —Option D [45]

o

Option C [20] ——

=

Opticon B [36] Option A [37]

Question 41

— Option D [52]

Option C [23]

Option A [27]
Opticn B [45]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

37
36
30
45

27
45
23
52

15%
14%
12%
18%

11%
18%

9%
21%



Question 42

Option C [44]

Option B [37]

Question 43

Option D [76] ————————

Option C [30)———

— Option D [15]

Opticn A [43]

Option A [15]

Opticn B [24]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

43
37
44

24
30
76

17%
15%
17%

6%

6%
9%
12%
30%



Question 44

Option C [34]

Option B {22}

Question 45

Option C [159]—

— Option D [83]

DOption A [39]

— Qpiion D [8]
=— Cption A [3]
~— Dpticn B 9]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

39
22
30
83

3
9
159
8

15%

9%
12%
33%

1%
4%
63%
3%



Question 46

Option A [127]

Question 47

Ciption A [128]

Option B [17]

— Option C [27]

— Dpticn D [5]

Option B [24]

Option C [8]

—Opticn D [14]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

127
17
27

5

50%
7%
11%
2%

51%
9%
3%
6%



Question 48

Opticn B [147]

Question 49

Option C[119] ——

Option C [8]
— QOpticn D [8]

DOption A [10]

— Option D [3]
— Option A [8]

— Option B [30]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

10 4%
147 58%
8 3%

8 3%

8 3%
30 12%
119 47%
3 1%



Question 50

Option D 107 ——

Opticn C [18]

Question 51

Option D [99] ——

Cpticn C [20] - .
Option BT111°

Option A 124]

Option B [18]

P—— Opiicn A [36]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

36

20
99

11%
7%
6%

42%

14%
4%
8%

39%



Question 52

e Option C [5]
=" —Option D [9]

‘{]p‘,;on A11]

Option B [144]

Question 53

Opfion B [10] DOption C [44]

—{pticn D [&]

Optien A [101]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

11
144
5
9

101

44
6

4%
57%
2%
4%

40%
4%
17%
2%



Question 54

——— Cption D [38]

Option C [60]

Opticn A [18]

Option B {31]

Question 55

Opticn C [26] ————————

— DOption D [14]

Opton B [28]

Option A [37]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

31
60
38

37
28
26

7%
12%
24%
15%

15%
11%
10%

6%



Question 56

Option B [12]

Oiption A [100]

Question 57

Option B [58]—

Opticn C [27]

—Opticn D [12]

—QOpfion G [23]

— Ophon D [20]

C — Option A [55]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

100

55
59
23
20

40%
5%
11%
5%

22%
23%
9%
8%



Question 58

Option C [39]

—{Opticn D [24]

Option B {36 Option A [32]

Question 59

Option C [30]

— Option D [33]

Oplion A [15]

Opition B [65)

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

32
36
39
20

15
65
30
33

13%
14%
15%

8%

6%
26%
12%
13%



Question 60

Opticn C [40]

Cphion B [18]

— Option D [24)

~

Dption A [40]

L=

Option A
Option B
Option C
Option D

40

40
24

16%
7%
16%
9%



